NSN 5120-01-578-6890 AeroBase

Spare Hardware Assembly - Page 1 of 1 J— Group
View Online at https://aerobasegroup.com/nsn/5120-01-578-6890

General Description:

Spare hardware assembly robotics system consists of: 5/32 in. Hex key; washer lock no 10; screw, cap, socket head no 10-24 x 1 1/4 in.
L.; quick-release spring loaded pin; screw, flat head, 82 phillips, no 10-32 x 1/2 in. L.; screw, pan head, phillips no 10-32 x 3/8 in. L.; nut,
thumb no 10-32; hook blade; 4 in. X 4 in. Recloseable plastic bag; set used to repair 5110-01-578-6889 j knife assembly

Shelf Life:

N/a

Unit Of Measure:

Demilitarization:

No


https://aerobasegroup.com

